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Poverty as Challenge  

Question 1. 

What are the two methods of estimating the poverty line. 

Answer: 

There are two methods of measuring poverty line— 

• Level consumption expenditure method and 

• Income method. 

Question 2. 

What are the two main causes of poverty in India? 

Answer: 

• Low level of economic development under the British colonial 

administration. 

• A high growth rate of population. 

Question 3. 

What is the full form of NSSO? 

Answer: 

National Sample Survey Organisation. 
 



Question 4. 

Which are the poorest states in India? 

Answer: 

Odisha and Bihar 

Question 5. 

How is poverty defined by the World Bank? 

Answer: 

Poverty is defined by the World Bank as living on less than $ 1.90 per 

day. 

Question 6. 

What is the major reason behind huge income inequalities? 

Answer: 

It is the unequal distribution of land and other resources 
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